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𝜹 = 𝟏𝟎𝟓𝟖
ℏ𝝎𝜶𝟐

𝑵

ℏ 𝜔
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𝛿 ൫=
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𝜇

𝜇



 

〈𝐹ଶ, 〉

𝛼ଶ = 1.5 × 10ିଵଷ m W⁄

𝐼଴(≈ 𝐸𝑛 (𝑤଴
ଶ𝜏)⁄

𝑤଴ 𝜏

~

𝜀

〈𝐹ଶ,௥௘௙〉

𝒏(𝑰) = 𝒏𝟎 + 𝒏𝟐𝑰
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𝑛ଶ
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𝟐
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∗ − 𝛚൯

+
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𝜇௚௘ 𝜇௘௘ᇱ

⟨𝑔|𝜇|𝑒⟩ ⟨𝑒|𝜇|𝑒′⟩

𝜔ഥ௡௠ = 𝜔௡௠ − 𝑖Γ௡௠

Γ௡௠

𝑅𝑒(𝛾) ∝ 𝑛ଶ 𝐼𝑚(𝛾) ∝

𝛼ଶ

𝜇௚௘ 𝜔௘௚ Γ௘௚

𝜇௚௘

𝝁𝒈𝒆 = 𝟑. 𝟓𝟔𝟑 ∙ 𝟏𝟎ି𝟑𝟑ඨන 𝜺(𝝊)𝒅𝝊 𝑬𝒈𝒆ൗ ൣ𝒇(𝟏)൧
ି𝟏/𝟐

𝜀(𝜐)

𝜐 𝐸௚௘ = ℏ𝜔௘௚

𝑓(ଵ) = (𝑛଴
ଶ + 2) 3⁄

Γ௘௚

𝜇௘௘ᇱ 𝜔௘ᇱ௚ Γ௘ᇱ௚

𝜹(𝝎) =
𝟑 × 𝟏𝟎𝟓𝟖

𝟏𝟎

ℏ𝝎𝟐𝒇(𝟑)

𝜺𝟎
𝟐𝒄𝟐𝒏𝟎

𝟐
𝑰𝒎(𝜸𝑻)

𝑓(ଷ) = (𝑛଴
ଶ + 2)ସ 81⁄ 𝜀଴

1 ≅ 3.33 ∙

10ିଷ଴

𝜇௚௘ 10.9 𝐷

𝜔௚௘ 3.0 /ℏ

Γ௚௘ 0.26 /ℏ

𝜇௘௘ᇱ
(ଵ) 14 𝐷

𝜔௚௘ᇱ
(ଵ) 2.95 /ℏ

𝜇௘௘ᇱ
(ଶ) 11 𝐷

𝜔௚௘ᇱ
(ଶ) 3.33 /ℏ

Γ௚௘ᇱ
(ଵ)

= Γ௚௘ᇱ
(ଶ) 0.13 /ℏ



𝛿௥ = 0

𝜇௚௘ 𝜔௘௚

Γ௘௚

𝜇௘௘ 𝜔௘ᇱ௚ Γ௘ᇱ௚

 

𝜔௚௘
(ଵ)

= 2.95 ℏ⁄ 𝜔௚௘ᇱ
(ଶ)

= 3.33 ℏ⁄

Γ௘ᇱ௚
(ଵ)

= Γ௘ᇱ௚
(ଶ)

𝜹𝒓(𝝎) =
𝟑 × 𝟏𝟎𝟓𝟖

𝟐𝟎

ℏ𝝎𝟐𝒇(𝟑)

𝜺𝟎
𝟐𝒄𝟐𝒏𝟎

𝟐
𝑹𝒆(𝜸)

𝛿௥൫= 10ହ଼ℏ𝜔ଶ𝑛ଶ/(𝑐𝑁)൯

𝛿௥(~125 )

𝑛ଶ ≅ 0.65 × 10ିଵ଺  ⁄

𝛿௥(~ − 300 )

𝑛ଶ = −1.1 x 10ିଵ଺  ⁄

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


